Leuze
FAREBER
B FF o<
Bl k4= 50109680

1SS 212MM/4NO-10N-S12

&

- BRSH
- Ry B4
- BRER
- BR

- BENER
- FmE
- e

- EfH

Em
Sl

i

ﬁ

djo
e
H

B AR E c € c@us

LISTED

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com REBFEAREEHA
The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 45 E 1 +49 7021 573-199  chi + 2024-04-12 17



BRI « 4RSS : 50109680 « 1SS 212MM/4NO-10N-S12

BRSH

ERE

%5l

SR NBERE S
NS,

n

BHSH
MTTF

BAHE
RiF R

M RERIR
HEBBE Uy
RIRBBE
FrEE R

BEEB
BEERE,

BA (S WESL)
BA (S WEML)
FIE

i
BFTFRERH H

FFREMHH
BERE
BRAFFRBIR
RARRBR
BER

FREBHHA
F T

FxEE

)52

e ES

HERY

HEE

BEOKE
TR
IhEE
el
IR
el
E
BB

The Sensor People

212
10 mm
0..81mm

890 F

RIRHERE
BRI RHP
EBRR

10...30V, DC
0...20 %, SREU,
0..10 mA

10 %, WEEAN THRETE
5 %, Uy =20...30 VDC &Y , FMRRE

T,=23°C+5°C
10 %

14

DC
200 mA
0.1 mA
<2V

SIE, PNP
NO (BT AtR)

400 Hz
50 ms

14

e iR
EE@n
Bk
M12
&k
=B

4 15|
AR5

Leuze electronic GmbH + Co. KG
In der Braike 1, 73277 Owen

WS

3]

IR

R~ (@xL)
TR
AEMR
EEN=

B AR
#E

AZEE
FERER
ERR
REME R
BRER
LED#

RE R
RERE , I
RERE |, R
TAE

k2]

REEH
INE

& BT EE LHEMCIRTE 7

BIFIbR

BERK
8

THN

L2l

B

W Fe360
BRRS
ECLASS 5.1.4
ECLASS 8.0
ECLASS 9.0
ECLASS 10.0
ECLASS 11.0
ECLASS 12.0
ECLASS 13.0
ECLASS 14.0
ETIM 5.0
ETIM 6.0
ETIM 7.0
ETIM 8.0
ETIM 9.0

info@leuze.com * www.leuze.com
BBi% : +49 7021 573-0 « £ E : +49 7021 573-199

Leuze

B

M12 x 1 mm

12 mm x 45 mm
IEFTF

K-

AR F AR

B¥, RRK (PBT)

229

46 , RAL 3000
iR

RERIBY

30 x 30 mm? , Fe360

LED
14

-25..70°C
-25...70°C

IP 67

1l

cULUS

IEC 61000-4-2
IEC 61000-4-3
IEC 61000-4-4
IEC 60947-5-2

0.49
0.77
0.45
0.56

85365019
27270101
27270101
27270101
27270101
27270101
27274001
27274001
27274001
EC002714
EC002714
EC002714
EC002714
EC002714

REBEAREEHRA
chi + 2024-04-12

2/7



BRI « 4RSS : 50109680 « 1SS 212MM/4NO-10N-S12

R E4

BRI RMIIREK
M12x1
210,7 A
L
™~ [
Lr).
™
=} <
3% ™
0
<
©
B
1
M12x1

HEHE

Ihie

B3]

RGN

Bl

e

5 HI%K

Pt

SR 55 B
1 V+

2 n.c.

3 GND
4 OuT 1

The Sensor People

{Hea R
EEmH
sk
M12
sk
28

4 NBI R
A-4mig

Leuze electronic GmbH + Co. KG
In der Braike 1, 73277 Owen

info@leuze.com * www.leuze.com

Leuze

REBAREEHRF

BBi% : +49 7021 573-0 « {5 E : +49 7021 573-199  chi « 2024-04-12 3/7



BRI « 4RSS : 50109680 « 1SS 212MM/4NO-10N-S12

Eipap

TP RE

S, [mm] 10
D1 [mm] 13
typ. > 3S, __ D2[mm] 30
d_ D2 _, d_, D3 D3 {mm] 10
D1 | |
|
== EEE
> 35,
™ S, BIRE = 10.0 mm
Sn A [mm] a BRAFX
b FREER
10
9
8
7
6
5
4 ®
3
2
a 1
mm] 15 12 9 -

—ON@

[ 11 [ HO)

BREME R
LED ER

1 B, KR

Leuze electronic GmbH + Co. KG

The Sensor People In der Braike 1, 73277 Owen

Leuze

oL;

FF ok B /T RS

info@leuze.com * www.leuze.com
BBi% : +49 7021 573-0 « £ E : +49 7021 573-199

REBEAREEHRA
chi + 2024-04-12

417



BRI « 4RSS : 50109680 « 1SS 212MM/4NO-10N-S12

7 S ik Leuze

==

=mEM : ISXYYY ZZ/AAA.BB-CCC-DDD-DDD

ISX ThRERE / Rt
IS : BRI X, PR
ISS : BRKFTX , kit

YYY EX
203 : @ 3 mm %5
204 : @ 4 mm %5
205 : # M5 x 0.5 SMELH = RBRF
206 : @ 6.5 mm %5
208 : # M8 x 1 JMELH ™= mR5
212 : # M12 x 1 JNMELH 7= R R 5
218 : i M18 x 1 JNMELH ™= R R 5
230 : # M30 x 1.5 SMEL = B R 5
240: FRARIT RS
244: FRAZIT RS
255 : 5 x 5 mm? BEHARS
288 : 8 x 8 mm? B EFHR I

7z ST /B

MM : BT (BRXE : BH )/ AHIRE

FM : £22BAR (BRI : FHM AISI 316L ) / NHIERL

MP : €BAFE (BRXE : B )/ AFIHBRY
AAA BT/ BR

4NO : PNP &#& , EFF il (NO)

4NC : PNP ®&#&& , MRS (NC)

2NO : NPN R4 E& , EFF it (NO)

2NC : NPN &% & , EiMfis (NC)

1NO : 4kE888 , EFF = (NO) /AC/DC

1INC : 4¢E388 , EMALS (NC) / AC/DC

44 : 2 PNP @B F <5 Him , K3 (NO +NC )

22 : 2 NPN &#&EFF R , R3¥ (NO+NC)

BB HHREE

BUH : TS HRES

5F : R@MIE

5 : A% V2A (1.4305, AISI 303)
CCE NEBE / ZEER

1E0 : WIBMESTEERE 1.0mm / FELE
1E5 : IR ESTERE 1.5mm / FELRE
2E0 : MR ESTEZERE 2.0mm / FERE
3E0 : WIRMESTEERE 3.0mm / SFELE
4E0 : WRMESTEERE 4.0mm / FFERE
5E0 : IRFRMESTERE 5.0mm / SFERE
6E0 : MR ESTE R 6.0mm / FERE
8EO : MMRMESTE A 8.0mm / FERE
10E : WRIEMESEEEE 10.0mm / FFFEERE
12E : IR ESEEERE 12.0mm / FRERE
15E : WRIRMESEEEE 15.0mm / FFFERE
20E : PR ESBEZEE 20.0mm / FFERE
22F : RPRMESBEZRE 22.0mm / SFERE
2N5 : PR ESEEER 2.5mm / FEFFRE
4ANO : PR ESTEAER 4.0mm / FEFRRE
8NO : PR ESTEAERE 8.0mm / JEFFRE
10N : RPN ESTEZXE 10.0mm / FEFFRE
12N : RN ESTEXE 12.0mm / FEFFRE
14N : PRV ESTER 14.0mm / FFFFERE
15N : PR ESTESR 15.0mm / JFFFERE
20N : PR ESTEERE 20.0mm / IEFRRE
22N : PR ESEE KR 22.0mm / IEFFRLE
25N : HRBRM ESEEER 25.0mm / IEFERE
40N : PR ESEEERE 40.0mm / IEFERE
DDD BASERE
HUE : B4, fREKE 2000 mm
S12: M12 EE#ERs , 4 4, B

200-S12 : 841 , & 200 mm , % M12 EE#ER , 4 5, EF
200-S8.3 : B4 , K& 200 mm , # M8 EERERR , 3 ¢, BEF
$8.3: M8 EiEH#SR , 34, B

005-S8.3 : 848 , & 500 mm , % M8 BElIE#RE , 3 & , EF

050 : B4 , FRAEKE 5000mm , 378

& P A AR B RBIRBEEFT S NH ML www.leuze.com,

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com REBFEAREEHA
The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 45 E 1 +49 7021 573-199  chi + 2024-04-12 5/7



BRI « 4RSS : 50109680 « 1SS 212MM/4NO-10N-S12

. Leuze

b AR eERE  REATARRE.
b REB T LA RFEFREBEAET,
b EURSE ET AR A M.

L XWTFULNA , RENEC(REERBSME)ERIAAF 2R B AL,

BofF
BEERR - EEEH

B RS B [ L

50130654 KD U-M12-4A-P1- JEREEBY R L, M12, B, fREE, A-4RED, 4 NSIRD
020 J##:L, LED: &
ERE2: FF O
R B
BAKE: 2,000 mm

\ilf FEMB: PUR

50130657 KD U-M12-4A-P1- JEREEBY FEREN K, M12, BFY, R, A4S, 4 NI
050 E#:L, LED: &
EHE2: FF O
BR® &
B4KE: 5000 mm

\ilf FEMEE: PUR

020 E#k, LED: &
HEE2: FF O
R B
B KE: 2,000 mm

\ilf PEME: PVC

50130652 KD U-M12-4A-V1- FEREERL RN L M12, BT, AR, A-4RES, 4 N5IH
050 E##:k, LED: &
HEE2: FF O
BRE B
BAKE: 5,000 mm

\ilf PEME PVC

@ 50130648 KD U-M12-4A-V1- EE s HERET: HESk, M12, BT, B, A-T0, 4 NBI

Leuze electronic GmbH + Co. KG info@leuze.com * www.leuze.com REBFEAREEHA
The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 45 E 1 +49 7021 573-199  chi + 2024-04-12 6/7



BRI « 4RSS : 50109680 « 1SS 212MM/4NO-10N-S12

B Leuze

RERE - HAtb

B trms =L [ Wi
50111499 MC 012K *x8 R4 12 mm

RERIZZIRI REX
BEMNEEYS BILRE
RKEMEEH: AIRE
RHRIZZRR: NI

Y PR A AE S RE LT SN MEEAEMAESTEN TRETF.

Leuze electronic GmbH + Co. KG info@leuze.com « www.leuze.com REBFEAREEHA
The Sensor People In der Braike 1, 73277 Owen EBiE : +49 7021 573-0 45 E 1 +49 7021 573-199  chi + 2024-04-12 77



